
�件目�
(5.971-996.0) Spare parts list HD 9/50-4 400V

15.05.2015 ZHwww.kaercher.com

东莞市高洁清洁设备有限公司
咨询热线：0769-22674711
经理热线：156 2293 2572          
网址：www.dgkarcher.com



� 2

东莞市高洁清洁设备有限公司  0769-22674711 / 15622932572  官网www.dgkarcher.com



� 3

东莞市高洁清洁设备有限公司  0769-22674711 / 15622932572  官网www.dgkarcher.com



� 4

东莞市高洁清洁设备有限公司  0769-22674711 / 15622932572  官网www.dgkarcher.com



目�

Spare parts list HD 9/50-4 400V (5.971-996.0) ..................................................................................................................................................................................................................................................................................... 6
10 Frame ............................................................................................................................................................................................................................................................................................................................................. 7
20 Pump set ......................................................................................................................................................................................................................................................................................................................................... 9

21 Piston .......................................................................................................................................................................................................................................................................................................................................... 10
25 �品�件 (4.590-095.0) ....................................................................................................................................................................................................................................................................................................................... 13
34 ����25 D14中 (3.626-014.0) ............................................................................................................................................................................................................................................................................................................. 15

7 Piston rod complete ............................................................................................................................................................................................................................................................................................................................ 17
100 Spare parts set industry pump (2.885-140.0) ................................................................................................................................................................................................................................................................................................. 18

22 Excess-current ............................................................................................................................................................................................................................................................................................................................... 19
18 �門完整 (4.580-740.0) ....................................................................................................................................................................................................................................................................................................................... 22

23 Water filter .................................................................................................................................................................................................................................................................................................................................... 24
30 Motor ............................................................................................................................................................................................................................................................................................................................................ 26
40 Accessories .................................................................................................................................................................................................................................................................................................................................... 28

41 Hand trigger gun ............................................................................................................................................................................................................................................................................................................................. 29
0 只更�手扳机 (4.775-824.0) .................................................................................................................................................................................................................................................................................................................... 31

42 High pressure hose .......................................................................................................................................................................................................................................................................................................................... 33
43 Jet pipe ........................................................................................................................................................................................................................................................................................................................................ 35

0 射流管完整的700毫米65兆帕 (4.760-679.0) .................................................................................................................................................................................................................................................................................................... 37
50 Electric control box .......................................................................................................................................................................................................................................................................................................................... 39
60 ABS castor ..................................................................................................................................................................................................................................................................................................................................... 41
70 ABS protection against water shortage el ........................................................................................................................................................................................................................................................................................... 43

� 5

东莞市高洁清洁设备有限公司  0769-22674711 / 15622932572  官网www.dgkarcher.com



Spare parts list HD 9/50-4 400V (5.971-996.0)

位置 名称 数量 ME

10 Frame 1.000 ST

20 Pump set 1.000 ST

30 Motor 1.000 ST

40 Accessories 1.000 ST

50 Electric control box 1.000 ST

60 ABS castor 1.000 ST

70 ABS protection against water shortage el 1.000 ST

� 6

东莞市高洁清洁设备有限公司  0769-22674711 / 15622932572  官网www.dgkarcher.com



10 Frame

� 7

东莞市高洁清洁设备有限公司  0769-22674711 / 15622932572  官网www.dgkarcher.com



10 Frame

ET/VT 位置 材料�号 名称 数量 ME

 1 2.885-353.0 Spare part set cover grey 1.000 ST

 2 7.303-112.0 螺�6x20-10.9的R2R（In6Rd） 4.000 ST

 3 6.681-108.0 Hour counter 5-80V 1.000 ST

 4 7.303-046.0 螺�M6x12 9.000 ST

 5 7.306-043.0 缸盖螺�M8x30-8.8-A2E ISO 4.000 ST

X-X 6 6.343-137.0 快速�固件 2.000 ST

X-X 7 6.435-008.0 Wheel 2.000 ST

 8 6.339-100.0 Rubber buffer 2.000 ST

 12 5.110-378.0 �套 2.000 ST

X-X 13 7.312-289.0 �圈 2.000 ST

 14 7.311-432.0 �品�件 2.000 ST

 15 6.647-728.0 Cable with plug 32A 4x4mm²x5,5m 1.000 ST

 16 5.017-883.0 Angle for cable 1.000 ST

 18 5.034-975.0 Retaining bracket grey 1.000 ST

 19 5.050-913.0 Sheet metal component accessory shed 1.000 ST

 21 7.312-003.0 �圈 2.000 ST

 22 7.311-425.0 六角螺母M6-04-A2E ISO10511 2.000 ST

 23 7.303-047.0 螺�M6x16 ST-R3R（In6Rd的） 2.000 ST

 24 7.306-192.0 螺�M6X12-A2-70（In6Rd） 4.000 ST

� 8

东莞市高洁清洁设备有限公司  0769-22674711 / 15622932572  官网www.dgkarcher.com



20 Pump set

位置 名称 数量 ME

21 Piston 1.000 ST

22 Excess-current 1.000 ST

23 Water filter 1.000 ST

� 9

东莞市高洁清洁设备有限公司  0769-22674711 / 15622932572  官网www.dgkarcher.com



21 Piston

� 10

东莞市高洁清洁设备有限公司  0769-22674711 / 15622932572  官网www.dgkarcher.com



21 Piston

ET/VT 位置 材料�号 名称 数量 ME

 0 3.533-134.0 �品�件 1.000 ST

X 1 7.306-807.0 �品�件 8.000 ST

X-X 2 2.885-158.0 �門配件套件 2.000 ST

X-X 3 6.362-377.0 "O型密封圈38,0 X2,0-70丁�橡胶" 3.000 ST

X-X 4 6.367-032.0 旋��密封件24X35NBR 3.000 ST

 5 6.362-585.0 密封件 1.000 ST

 6 5.411-062.0 螺塞 1.000 ST

 7 7.304-397.0 螺�M8x20-8.8 8.000 ST

 8 6.362-887.0 "O形圈密封65,0×2.5" 2.000 ST

X 9 6.401-384.0 cylindere�承NJ 2206 EP/C3 2.000 ST

X-X 10 5.064-457.0 Cover qusty grey SAE 90 1.000 ST

 11 5.132-107.0 插� 1.000 ST

 12 5.070-194.0 油� 1.000 ST

 13 6.362-168.0 "O型密封圈22,3 X2,4-70丁�橡胶" 1.000 ST

X 14 6.363-257.0 �品�件 1.000 ST

 15 5.064-154.0 Cover 1.000 ST

 16 7.306-030.0 �品�件 4.000 ST

X-X 17 6.367-099.0 �品�件 1.000 ST

X 18 7.318-038.0 Parallel key 8x7x40-C45R  DIN 6885 1.000 ST

 19 7.306-024.0 �品�件 6.000 ST

X-X 20 6.363-319.0 �品�件 1.000 ST

 21 5.411-177.0 �品�件 1.000 ST

X-X 22 5.116-327.0 �圈 3.000 ST

X-X 23 5.116-370.0 �接� 3.000 ST

X-X 24 7.306-259.0 螺�M6x70-A4-70 ISO 7380 3.000 ST

� 11

东莞市高洁清洁设备有限公司  0769-22674711 / 15622932572  官网www.dgkarcher.com



21 Piston

ET/VT 位置 材料�号 名称 数量 ME

X-X 25 4.590-095.0 �品�件 1.000 ST

 27 5.583-204.0 �品�件 6.000 ST

X-X 28 6.365-538.0 �片 3.000 ST

X-X 29 6.365-539.0 �片 3.000 ST

 30 5.409-609.0 �品�件 1.000 ST

 31 6.363-437.0 �品�件 1.000 ST

X-X 32 6.363-513.0 �品�件 6.000 ST

X-X 33 5.111-044.0 袖�D14中 3.000 ST

X 34 3.626-014.0 ����25 D14中 1.000 ST

 35 4.550-936.0 气缸�完整的D14中 1.000 ST

X-X 36 5.511-011.0 螺�插�D14 3.000 ST

X-X 37 5.112-819.0 �� D14 3.000 ST

 38 6.362-079.0 "O形圈密封18,0×2.5" 1.000 ST

X-X 39 6.362-170.0 �品�件 1.000 ST

 40 7.312-073.0 �圈 1.000 ST

X-X 100 2.885-140.0 Spare parts set industry pump 1.000 ST

� 12

东莞市高洁清洁设备有限公司  0769-22674711 / 15622932572  官网www.dgkarcher.com



25 �品�件 (4.590-095.0)

� 13

东莞市高洁清洁设备有限公司  0769-22674711 / 15622932572  官网www.dgkarcher.com



25 �品�件 (4.590-095.0)

ET/VT 位置 材料�号 名称 数量 ME

X-X 5 6.362-170.0 �品�件 1.000 ST

 6 6.362-079.0 "O形圈密封18,0×2.5" 1.000 ST

 7 7.312-073.0 �圈 1.000 ST

� 14

东莞市高洁清洁设备有限公司  0769-22674711 / 15622932572  官网www.dgkarcher.com



34 ����25 D14中 (3.626-014.0)

� 15

东莞市高洁清洁设备有限公司  0769-22674711 / 15622932572  官网www.dgkarcher.com



34 ����25 D14中 (3.626-014.0)

ET/VT 位置 材料�号 名称 数量 ME

 2 5.103-036.0 Crankshaft lift 25 1.000 ST

 5 5.064-154.0 Cover 1.000 ST

 6 5.411-062.0 螺塞 1.000 ST

 7  Piston rod complete 3.000 ST

 8 5.064-218.0 Bearing cover A 1.000 ST

 9 5.064-219.0 Bearing cover B 1.000 ST

X-X 10 6.367-032.0 旋��密封件24X35NBR 3.000 ST

X 11 6.401-384.0 cylindere�承NJ 2206 EP/C3 2.000 ST

 12 6.362-887.0 "O形圈密封65,0×2.5" 2.000 ST

X-X 13 6.367-099.0 �品�件 1.000 ST

X 14 6.363-257.0 �品�件 1.000 ST

 15 6.362-585.0 密封件 1.000 ST

 16 5.411-177.0 �品�件 1.000 ST

 17 7.304-397.0 螺�M8x20-8.8 8.000 ST

 18 7.306-030.0 �品�件 4.000 ST

X 19 7.318-038.0 Parallel key 8x7x40-C45R  DIN 6885 1.000 ST

 22 5.070-194.0 油� 1.000 ST

 23 5.063-195.0 盖子 1.000 ST

 24 5.132-107.0 插� 1.000 ST

 25 6.362-168.0 "O型密封圈22,3 X2,4-70丁�橡胶" 1.000 ST

X-X 26 6.363-319.0 �品�件 1.000 ST

� 16

东莞市高洁清洁设备有限公司  0769-22674711 / 15622932572  官网www.dgkarcher.com



7 Piston rod complete

位置 材料�号 名称 数量 ME

2 7.306-024.0 �品�件 2.000 ST

� 17

东莞市高洁清洁设备有限公司  0769-22674711 / 15622932572  官网www.dgkarcher.com



100 Spare parts set industry pump (2.885-140.0)

ET/VT 位置 材料�号 名称 数量 ME

X 1 4.580-024.0 Valve complete 50 MPa 2.000 ST

X-X 2 6.365-538.0 �片 3.000 ST

X-X 3 6.365-539.0 �片 3.000 ST

X-X 4 6.362-377.0 "O型密封圈38,0 X2,0-70丁�橡胶" 3.000 ST

X-X 5 6.363-513.0 �品�件 6.000 ST

X-X 6 6.367-032.0 旋��密封件24X35NBR 3.000 ST

 7 6.362-887.0 "O形圈密封65,0×2.5" 2.000 ST

X-X 8 6.367-099.0 �品�件 1.000 ST

 9 6.362-168.0 "O型密封圈22,3 X2,4-70丁�橡胶" 1.000 ST

X-X 10 6.363-319.0 �品�件 1.000 ST

 11 6.363-328.0 �品�件 1.000 ST

� 18

东莞市高洁清洁设备有限公司  0769-22674711 / 15622932572  官网www.dgkarcher.com



22 Excess-current

� 19

东莞市高洁清洁设备有限公司  0769-22674711 / 15622932572  官网www.dgkarcher.com



22 Excess-current

ET/VT 位置 材料�号 名称 数量 ME

X 0 4.580-810.0 Excess-current complete 50 MPa 1.000 ST

X-X 1 6.363-006.0 �品�件 1.000 ST

X-X 2 6.362-511.0 "O型密封圈31,47 X1,78" 1.000 ST

 3 6.363-453.0 "O型密封圈29.75 x3,53" 1.000 ST

 4 6.362-161.0 "O型密封圈19,3 X2,4" 1.000 ST

X-X 5 6.362-579.0 "O型密封圈17,5 X3,5" 1.000 ST

X-X 8 2.885-113.0 �用于���流的配件套件 1.000 ST

X 10 5.322-103.0 �品�件 1.000 ST

 11 7.311-002.0 六角螺母M5-8-A2E ISO4032 1.000 ST

 12 7.307-017.0 螺栓 1.000 ST

 13 5.304-070.0 六角螺� 1.000 ST

 14 7.401-921.0 球 1.000 ST

 15 5.311-204.0 六角螺母M22x1，5 1.000 ST

 16 5.367-030.0 �品�件 1.000 ST

X-X 17 2.885-163.0 控制活塞 50 Mpa 的配件套件 1.000 ST

X-X 18 4.580-740.0 �門完整 1.000 ST

X-X 19 5.332-963.0 �品�件 1.000 ST

 20 6.421-357.0 �品�件 1.000 ST

 21 5.402-731.0 Screw union 1.000 ST

X-X 22 6.363-420.0 �品�件 1.000 ST

X-X 23 5.769-201.0 �品�件 1.000 ST

 24 5.304-102.0 �品�件 1.000 ST

X-X 25 5.304-096.0 �品�件 1.000 ST

X-X 26 5.584-145.0 �品�件 1.000 ST

X-X 27 5.582-142.0 �品�件 1.000 ST

� 20

东莞市高洁清洁设备有限公司  0769-22674711 / 15622932572  官网www.dgkarcher.com



22 Excess-current

ET/VT 位置 材料�号 名称 数量 ME

 28 5.404-082.0 空心螺� 1.000 ST

 29 5.401-313.0 �品�件 1.000 ST

X-X 30 4.744-234.0 开关 1.000 ST

� 21

东莞市高洁清洁设备有限公司  0769-22674711 / 15622932572  官网www.dgkarcher.com



18 �門完整 (4.580-740.0)

� 22

东莞市高洁清洁设备有限公司  0769-22674711 / 15622932572  官网www.dgkarcher.com



18 �門完整 (4.580-740.0)

ET/VT 位置 材料�号 名称 数量 ME

X 5 6.363-372.0 �品�件 1.000 ST

� 23

东莞市高洁清洁设备有限公司  0769-22674711 / 15622932572  官网www.dgkarcher.com



23 Water filter

� 24

东莞市高洁清洁设备有限公司  0769-22674711 / 15622932572  官网www.dgkarcher.com



23 Water filter

ET/VT 位置 材料�号 名称 数量 ME

X-X 1 6.415-960.0 Water filter complete 1.000 ST

 2 6.392-980.0 Union nut grey only for replacement 1.000 ST

 3 6.414-688.0 ��杯 1.000 ST

X-X 4 6.363-166.0 O型密封圈 1.000 ST

X-X 5 6.414-666.0 筒形��器 1.000 ST

X 6 6.388-458.0 �管接� 1.000 ST

 7 7.311-432.0 �品�件 2.000 ST

 8 7.312-066.0 �圈 4.000 ST

 9 7.306-234.0 �品�件 2.000 ST

 10 7.312-017.0 �片 2.000 ST

 11 7.304-068.0 Hexagonal head screw M8x80-A2-70  ISO 40 2.000 ST

� 25

东莞市高洁清洁设备有限公司  0769-22674711 / 15622932572  官网www.dgkarcher.com



30 Motor

� 26

东莞市高洁清洁设备有限公司  0769-22674711 / 15622932572  官网www.dgkarcher.com



30 Motor

ET/VT 位置 材料�号 名称 数量 ME

 0 6.491-969.0 Electric motor for replacement 1.000 ST

X-X 1 7.304-537.0 �品�件 4.000 ST

 4 7.311-088.0 Hexagon nut M10-8-A2K  EN 1664 8.000 ST

 5 7.312-290.0 �品�件 4.000 ST

X 6 6.339-075.0 �品�件 4.000 ST

 7 6.643-943.0 Warning sign label 1.000 ST

位置文本: 1.367-152.0/-154.0/-155.0/-156.0/-157.0

� 27

东莞市高洁清洁设备有限公司  0769-22674711 / 15622932572  官网www.dgkarcher.com



40 Accessories

位置 名称 数量 ME

41 Hand trigger gun 1.000 ST

42 High pressure hose 1.000 ST

43 Jet pipe 1.000 ST

� 28

东莞市高洁清洁设备有限公司  0769-22674711 / 15622932572  官网www.dgkarcher.com



41 Hand trigger gun

� 29

东莞市高洁清洁设备有限公司  0769-22674711 / 15622932572  官网www.dgkarcher.com



41 Hand trigger gun

ET/VT 位置 材料�号 名称 数量 ME

X-X 0 4.775-824.0 只更�手扳机 1.000 ST

 1 7.303-129.0 螺� 4x16 9.000 ST

 2 5.322-044.0 Handhold few 65MPa 3000l/h 1.000 ST

X-X 3 2.885-215.0 �品�件 1.000 ST

 4 5.411-529.0 Screw plug 65MPa 1.000 ST

X-X 5 6.362-397.0 O-Ring seal 18,0 X 1,5-NBR 70 1.000 ST

 6 2.885-216.0 Spare part set adapter 65MPa 1.000 ST

 7 6.363-069.0 O形圈Φ15 1.000 ST

 9 5.332-046.0 Helical spring 1.000 ST

X 10 5.332-977.0 �品�件 1.000 ST

X-X 11 2.885-214.0 零部件集活塞65MPa 1.000 ST

 12 5.424-145.0 Trigger safety latch yellow 1.000 ST

 14 5.401-330.0 �品�件 1.000 ST

 15 5.317-403.0 �品�件 1.000 ST

 16 2.885-212.0 Spare part set lever yellow 1.000 ST

 17 7.314-042.0 Straight pin 5m6x26 - A1  ISO 2338 1.000 ST

X 18 5.114-572.0 Supportring 65MPa 1.000 ST

X-X 19 6.362-174.0 O型圈 16,0 X 2,0-NBR 70 1.000 ST

X 20 5.363-768.0 �品�件 1.000 ST

� 30

东莞市高洁清洁设备有限公司  0769-22674711 / 15622932572  官网www.dgkarcher.com



0 只更�手扳机 (4.775-824.0)

� 31

东莞市高洁清洁设备有限公司  0769-22674711 / 15622932572  官网www.dgkarcher.com



0 只更�手扳机 (4.775-824.0)

ET/VT 位置 材料�号 名称 数量 ME

 1 5.322-044.0 Handhold few 65MPa 3000l/h 1.000 ST

 4 5.424-145.0 Trigger safety latch yellow 1.000 ST

 5 5.401-330.0 �品�件 1.000 ST

X 7 5.363-768.0 �品�件 1.000 ST

 8 5.411-529.0 Screw plug 65MPa 1.000 ST

X 9 5.114-572.0 Supportring 65MPa 1.000 ST

 11 5.317-403.0 �品�件 1.000 ST

 12 5.114-573.0 Supportring 2.000 ST

 13 5.332-046.0 Helical spring 1.000 ST

 14 7.303-129.0 螺� 4x16 9.000 ST

X 15 5.332-977.0 �品�件 1.000 ST

 18 7.314-042.0 Straight pin 5m6x26 - A1  ISO 2338 1.000 ST

 21 6.363-608.0 O形圈Φ15x1.5 1.000 ST

X-X 22 6.362-174.0 O型圈 16,0 X 2,0-NBR 70 1.000 ST

 30 2.885-212.0 Spare part set lever yellow 1.000 ST

X-X 40 2.885-214.0 零部件集活塞65MPa 1.000 ST

X-X 50 2.885-215.0 �品�件 1.000 ST

 60 2.885-216.0 Spare part set adapter 65MPa 1.000 ST

� 32

东莞市高洁清洁设备有限公司  0769-22674711 / 15622932572  官网www.dgkarcher.com



42 High pressure hose

� 33

东莞市高洁清洁设备有限公司  0769-22674711 / 15622932572  官网www.dgkarcher.com



42 High pressure hose

ET/VT 位置 材料�号 名称 数量 ME

X-X 1 6.391-848.0 高��管的DN 8 / 64Mpa / 10，中号 1.000 ST

 2 2.880-990.0 O型圈 1.000 ST

� 34

东莞市高洁清洁设备有限公司  0769-22674711 / 15622932572  官网www.dgkarcher.com



43 Jet pipe

� 35

东莞市高洁清洁设备有限公司  0769-22674711 / 15622932572  官网www.dgkarcher.com



43 Jet pipe

ET/VT 位置 材料�号 名称 数量 ME �量信息

X-X 0 4.760-679.0 射流管完整的700毫米65兆帕 1.000 ST  

X-X 1 4.363-692.0 槽� 1.000 ST  

 2 6.362-524.0 "O形圈密封17,0×1.5" 1.000 ST  

X-X 3 7.401-915.0 球 1.000 ST  

 4 7.303-129.0 螺� 4x16 6.000 ST  

X 5 5.321-937.0 Handhold few jet pipe 60 MPa 1.000 ST  

 6 2.880-990.0 O型圈 1.000 ST  

X-X 7 5.765-164.0 �力�嘴15030 - geh#rtet -托尔。#1％ 1.000 ST 15 GRAD

X-X 7 5.765-159.0 �力�嘴0030 - geh#rtet -托尔。#1％ 1.000 ST 0 GRAD

X-X 8 5.401-321.0 螺��接部分 1.000 ST  

 9 6.415-915.0 �力旋�50兆帕 1.000 ST  

X-X 10 6.025-437.0 �嘴�置�源旋�F8 50兆帕 1.000 ST  

位置文本: 6415-915.0

� 36

东莞市高洁清洁设备有限公司  0769-22674711 / 15622932572  官网www.dgkarcher.com



0 射流管完整的700毫米65兆帕 (4.760-679.0)

� 37

东莞市高洁清洁设备有限公司  0769-22674711 / 15622932572  官网www.dgkarcher.com



0 射流管完整的700毫米65兆帕 (4.760-679.0)

ET/VT 位置 材料�号 名称 数量 ME

X 3 5.321-937.0 Handhold few jet pipe 60 MPa 1.000 ST

X-X 14 5.401-321.0 螺��接部分 1.000 ST

 15 6.362-524.0 "O形圈密封17,0×1.5" 1.000 ST

X-X 18 7.401-915.0 球 20.000 ST

� 38

东莞市高洁清洁设备有限公司  0769-22674711 / 15622932572  官网www.dgkarcher.com



50 Electric control box

� 39

东莞市高洁清洁设备有限公司  0769-22674711 / 15622932572  官网www.dgkarcher.com



50 Electric control box

ET/VT 位置 材料�号 名称 数量 ME

X 1 6.632-419.0 �品�件 1.000 ST

 2 7.303-061.0 ST2的螺�，9X9，5-ST-的R2R（In6Rd） 1.000 ST

 3 7.312-293.0 �品�件 1.000 ST

 4 6.601-555.0 �品�件 1.000 ST

X-X 5 6.632-458.0 �品�件 1.000 ST

 6 6.632-418.0 �品�件 1.000 ST

 7 6.651-687.0 �品�件 1.000 ST

 8 6.651-642.0 �品�件 2.000 ST

X-X 9 6.630-091.0 �品�件 1.000 ST

 10 6.682-965.0 断相保��机保�的 1.000 ST

X 11 6.647-425.0 �品�件 7.000 ST

X 12 6.632-334.0 �源接触器LC1类D32 B7分子 1.000 ST

 13 7.303-062.0 Sheet metal screw ST3,5X 9,5-ST-A2R  (IN 7.000 ST

 14 6.648-206.0 Locknut black M25 2.000 ST

 15 6.648-415.0 防松螺母 M16 4.000 ST

 16 6.648-399.0 黑色��密封套 M16x1.5 3.000 ST

 17 6.648-401.0 Cable gland black M25X1,5 2.000 ST

 18 7.233-313.0 �品�件 1.000 M

 19 7.303-071.0 �品�件 3.000 ST

 20 6.622-241.0 控制��器400V 1.000 ST

X-X 21 6.632-450.0 主开关15kW的 1.000 ST

X-X 22 6.682-948.0 平�运行的HD 13/35-4 1.000 ST

 23 6.648-423.0 Blind plug grey M16X1,5 1.000 ST

� 40

东莞市高洁清洁设备有限公司  0769-22674711 / 15622932572  官网www.dgkarcher.com



60 ABS castor

� 41

东莞市高洁清洁设备有限公司  0769-22674711 / 15622932572  官网www.dgkarcher.com



60 ABS castor

ET/VT 位置 材料�号 名称 数量 ME

 1 7.311-427.0 六角螺母M8-04-A2E ISO10511 8.000 ST

 2 7.312-004.0 �圈 16.000 ST

X 3 6.435-793.0 �品�件 2.000 ST

 4 7.304-395.0 螺�M8x16 8.000 ST

 5 5.111-205.0 Sleeve 8.000 ST

� 42

东莞市高洁清洁设备有限公司  0769-22674711 / 15622932572  官网www.dgkarcher.com



70 ABS protection against water shortage el

� 43

东莞市高洁清洁设备有限公司  0769-22674711 / 15622932572  官网www.dgkarcher.com



70 ABS protection against water shortage el

位置 材料�号 名称 数量 ME

1 4.411-015.0 Screw plug pressure switch G1" 1.000 ST

2 6.633-585.0 Time relay 1.000 ST

3 6.651-645.0 Pilot lamp 1.000 ST

4 6.649-632.0 Control cable protection against water s 1.000 ST

5 4.411-017.0 Screw plug pressure switch G3/4" 1.000 ST

Powered by TCPDF (www.tcpdf.org)

� 44

东莞市高洁清洁设备有限公司  0769-22674711 / 15622932572  官网www.dgkarcher.com东莞市高洁清洁设备有限公司  0769-22674711 / 15622932572  官网www.dgkarcher.com

http://www.tcpdf.org

	目录
	Spare parts list HD 9/50-4 400V (5.971-996.0)
	10 Frame
	20 Pump set
	21 Piston
	25 备品备件 (4.590-095.0)
	34 齿轮轮毂25 D14中 (3.626-014.0)
	7 Piston rod complete

	100 Spare parts set industry pump (2.885-140.0)

	22 Excess-current
	18 阀门完整 (4.580-740.0)

	23 Water filter

	30 Motor
	40 Accessories
	41 Hand trigger gun
	0 只更换手扳机 (4.775-824.0)

	42 High pressure hose
	43 Jet pipe
	0 射流管完整的700毫米65兆帕 (4.760-679.0)


	50 Electric control box
	60 ABS castor
	70 ABS protection against water shortage el


